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ma Assignment e—

Complete pg. 355
Questions (1-5, 6, 8, and 11)
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Solutions ———————————

Ll‘f'u T’IPLJE Qt—@‘m

1 CH , ChooSEI +he
R g N N S e N th“\‘ AnsSwer.

. What are the ﬁoh—pcrm\ss'.ble values
_$or +he rational expression _ A(x+2) 7

(x=3)X(x+1)
=> X-3#0 and '>.<+:L#O
XKEI X*=-1

Sl TTON: D

2. Sxm_F lify the rational expression
X+b for gll possible values of x-

X2=2x-24

:_—'_.) X'L"])(ig
X=9%~-04

= (X=-1)(x6)
e (xr4)

= (X=1) , X#6,~M
O )

SOLUTTON: B
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m Solutions =-—-bse————

3. Simplify B +5y -5 for all
permissible values oFy

= 8+ Qg_—ﬁ'_
3\/
= 4 -1—303[—- i’D—V
D4y D4y 24y
= 20y \/+6’+
2‘-%);

SOLUTTON?S A

4. Simplify 3x=12 % X=4 , X#0 and x#4.

9x* K

= 533-—\2,%- X=4

gx2 3BX
= 30xH) X 3¢

Ax* Xtk
= 9

QX
= 1. ,%%0

X

S Ok TTON o A
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Solutions -
5 Solve 6 =4 , £+3 and t#+=-4.
+-3  ++4 -
=> _Qg__ _4_

(;b%')(tw [ _Q__J = (t—B)(t#—fi [i{l
 Gerd) s 24 (+£-3)

6t +24 44-12,
t—-4t = -12-2M
2t = 36
pY 2

QoL UTToN: D.
) _Lc;\en{‘ncy all Non-permissibl 6:,\\{9\\9&8

worked i+

S5 % 2%-G_ = %x-3 iggj\gﬁi\v

X%-9q  3AxE=2x-5 X+3 o
& X 2M%=3) X X+3

(x-s)(xﬁ) (A%2+ 3IXEDXD)  X-3 _.
= 3A%-5 X__2.(=3) % X313

(%K E3) 3x(x+l}5(><+l) X-3

=N X#-1 %;ts

X XAD
%)Qx@ (xsx—\m X3 CE

X#E3,73,-1,0
(><+\)(X-3) L b 3

X-3% O X+3£0
T OX#3 X#3

X\FO IFHO
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m Solutions -—,seeee———

8. Add or Subtract as indicated . Give
VOUr ansSwer in  Simplest form.

Sy + 1 —yj_!_

o e 3V

_5gi+
\;13—2\

AN
L )Q:a(.\.f 2) 6”5—2)
—«5\r ~ OV + G
%_(\} -2V \JHQ_) G:C\f 2)
— 5\.! OV + 6 —2y-2f
C;(\;-L_l‘ ’

H

= 5\;(\4 2} 2(:\! -2)
AT
C},th'()‘;ﬂ%—l)
Sy-2 ., VF2
qé— 7 i

(l

Il
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Solutions ————sseee———

1. Solve 2-_5 = %xx3
X*=X~6  X¥T2
2=-_3S = z:rs
(x—3)<x+2,) X4
(x—3\(x+2)‘“ 2 - 1= b«—-s)(xn) [ X+3]

C><~3)(><+2)j L X+2 |

=B+ = B2 [ 5 _‘ (B2 x+ L3]

8

LCXBI0

UX-B)X+2) =5 = (x 3)(x+3)
2 (X2 2%-3%-G) -5 = X - 3x-3x~9
2.x* +f—i><-é>x~l2-b = X3*-9

2X%X*-2%-171+9 = 0O
X*=2%x~"8 = O
(X =4)(X+2) =0
X=4=0 or X+2=0
X=4) x——:z, yXF3,"2,

U*rancous |
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